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ANSWER KEY 

1. h = 8, a = 12, a/2 = 6 

𝑙 = ? 

𝑙 =  ℎ2 +  
𝑎

2
 

2
  

=  82 + 62 

=  64 + 36 =  100 = 𝟏𝟎 𝒄𝒎 

 

2. T.S.A / = 432π 

3πr2 = 432π  

r2 = 
432

3
= 144 

𝑟 =  144 = 𝟏𝟐 𝒄𝒎 

Volume /  = 
2

3
𝜋𝑟3 

=
2

3
× 𝜋 × 12 × 12 × 12 

= 𝟏𝟏𝟓𝟐𝝅 𝒄𝒎𝟑 

 

3. Sphere /  

diameter /  = 24 cm 

radius /  = 12 cm 

volume / = 
4

3
𝜋𝑟3 

=
4

3
× 𝜋 × 12 × 12 × 12 

Cone /  

diameter /  = 12 cm 

radius /  = 6 cm 

height /  = 6 cm 

volume / = 
1

3
𝜋𝑟2ℎ 

=
1

3
× 𝜋 × 6 × 6 × 6 

 

No. of cones / 

  

=

4
3

× 𝜋 × 12 × 12 × 12

1
3

× 𝜋 × 6 × 6 × 6
= 𝟑𝟐 

 

4. a) 𝑟 = 𝑙 

∴ 𝑙 = 20 𝑐𝑚 

b) 
𝑟

𝑙
=

𝑥

360
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𝑟 =
𝑥

360
× 𝑙 

=
216

360
× 20 

𝒓 = 𝟏𝟐 𝒄𝒎 

c) ℎ =  𝑙2 − 𝑟2 

=  202 − 122 

=  400 − 144 =  256 

𝒉 = 𝟏𝟔 𝒄𝒎 

d) 𝑣 =
1

3
𝜋𝑟2ℎ 

=
1

3
× 𝜋 × 12 × 12 × 16 

= 𝟕𝟔𝟖 𝝅 𝒄𝒎𝟑 

 

5. a) Base area / = 100 

cm2 

𝑎2 = 100 

𝑎 =  100 

𝒂 = 𝟏𝟎 𝒄𝒎 

 

b) L.S.A /  = 260 

cm2 

2𝑎𝑙 =  260 

2 × 10 × 𝑙 = 260 

𝑙 =
260

20
 

𝒍 = 𝟏𝟑 𝒄𝒎 

c) 𝑎 = 10 

∴
𝑎

2
= 5 

𝑙 = 13 

ℎ =? 

ℎ =  𝑙2 −  𝑎/2 2 

=  132 − 52 

 169 − 25 =  144 

𝒉 = 𝟏𝟐 𝒄𝒎 

 

d) volume /  = 
1

3
𝑎2ℎ 

=
1

3
× 10 × 10 × 12 = 𝟒𝟎𝟎 𝒄𝒎𝟑 

 

6. a) h = 14 – 6 

= 8 cm 

b) r = 6cm, h = 8 cm 

𝑙 = ? 

𝑙 =  ℎ2 + 𝑟2  

=  82 + 62 

=  64 + 36 =  100 

𝑙 = 10 𝑐𝑚 

c) volume of solid / 

 = 𝑣1 +  𝑣2 
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volume of Hemisphere + volume of 

cone 

2

3
𝜋𝑟3 +

1

3
𝜋𝑟2ℎ 

=
2

3
× 𝜋 × 6 × 6 × 6 +

1

3
× 𝜋 × 6 × 6 × 8 

240 𝜋𝑐𝑚3 

 

d) T.S.A /  

C.S.A of Hemisphere + C.S.A of Cone 

2𝜋𝑟2 + 𝜋𝑟𝑙 

2 × 𝜋 × 6 × 6 + 𝜋 × 6 × 10 

72𝜋 + 60𝜋 = 𝟏𝟑𝟐𝝅𝒄𝒎𝟐 


